DELHI PUBLIC SCHOOL

SAIL TOWNSHIP, RANCHI
ANNUAL EXAMINATION (2020-2021)
Class:- IX Subject:- English
Time — 3 Hrs. F.M. :-80

General Instructions:-

1. The question paper consists of two sections - A and B.

2. Section A comprises of objective (MCQ) type questions and Section B comprises of
subjective type questions.

3. The question paper comprises of a total of eleven questions and all of them
are compulsory.

4. Internal choices have been provided in all the questions.

Q.1

SECTION -A
READING (20 marks)

Read the following passage carefully and answer the questions that follow .You have to
choose your answers out of the four given choices . (Answer any ten) (1x10=10)

When [ learned that my seventy one year old mother was playing scrabble against herself, I
knew I had to do something. "Who is playing?" I asked one day when I saw a half finished
game on the table. "My right hand versus my left". "Excuse me" I said. " Well your father
doesn't play now and I want to keep my mind sharp." An admirable pursuit, but I questioned
whether my mother's solitary version of scrabble would achieve that goal. My husband
suggested we give her a computer to play against. I wasn't sure my mother was ready for a
cyber scrabble as it had taken fifteen years to persuade her to buy a microwave. Nevertheless
we packed up our old PC, complete with scrabble and word-processing programmes and
delivered it to my parent's home. And so began my mother's adventure in the world of
computers.

It also marked the beginning of an unusual teaching assignment for me. I've taught children
and adults of all ages, but never thought I would be teaching my mother to do anything.
Despite the look of horror on her face when she first saw our gift, my mother was eager to get
started. She sat mesmerised on the screen lit up and the various icons presented themselves.
Slowly, but surely my mother caught on, making notes in a little spiral book. I wondered how
she'd fair without me. But thereafter, she only spoke of her game on the computer to me. She
even forgot to ask her stock question, "What did you have for supper?" It was no longer on the
agenda. Instead she talked about RAM, ROM and CPU terms spilled out effortlessly from her
mouth. My mother had acquired a new mother tongue.
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After a lifetime of being her child, I was finally the one with knowledge to share with my mum.
But even now, I realise she continues to teach me. I'm learning that no matter how old you are,
a willing spirit is capable of anything.

1. What was the language mother newly acquired?
(a) Language of computer (b) RAM
(c) ROM (d) CPU

2. What changes were seen in mother?
(a) She started liking the game all the more
(b) She became very proud of herself
(c) She got busy on the computer
(d) She did not like the household work anymore

3. With whom did the mother play earlier?
(a) With her right hand (b) With her left hand
(c) With her husband (d) With computer

4. What did the author learn from her mother?
(a) Will power is not enough to gain target
(b) How to live life better
(c) Positive attitude
(d) A willing spirit is capable of anything

5. The author's mother played scrabble alone because

(a) her husband does not play scrabble now
(b) she wants to keep her mind sharp
(c) she is alone at home
(d) Both a and b

6. Why did the author and her husband decide to give a computer to the mother?
(a) Because sitting and playing was outdated
(b) She would get to learn more
(c) She would get a competent rival to play
(d) It was her birthday
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7. The author was not sure whether her mother would use a computer because
(a) she was a very rigid lady
(b) she did not like to spend so much on her
(c) it took 15 years to persuade her to buy a microwave
(d) she did not know how to operate it
8. The author's mother was interested in learning about the computer as
(a) she would sit mesmerised in front of computer

b) she got bored from the way she was playing

(
(c) she wanted to show off her knowledge
(d) sitting and playing was outdated
9. The passage suggests that
(a) age can obstruct a person from learning
(b) age is no bar to learning
(c) age is a very big constraint to work
(d) it was not good to play at old age
10. Which word in the passage means 'to hold somebody's attention'
(a) hypnotized (b) mesmerised
(c) spell - bound (d) fascinated
11. Which word can replace the word 'solitary' in the passage perfectly?
(a) busy (b) individual (c) dual (d) technical
12. Which among the following words cannot replace the word 'pursuit' in the passage?
(a) quest (b) desire (c) aim (d) occupation
Q. II) Read the following passage carefully and answer the questions that follow .You have to
choose your answers out of the four given choices . (Answer any ten) (1x10=10)
The Supreme Court Judgement which abolishes punishment for attempted suicide will prove
to be a milestone in India's Judicial history. This is so because the judgment will benefit tens of
thousands of miserable souls who are prosecuted for failing to kill themselves. Around 50,000
suicides are reported in India every year. Considering that three suicide bids take place for
every successful one, we can safely assume that the failed suicides amount to 1,50,000 a year
in India .
These 1,50,000 individuals could be sentenced to one year in jail under Section 309 of the
Indian penal Code which the Supreme Court Judgement has effaced as being unconstitutional.
Quite rightly, the judgement said that Section punishment for a troubled individual whose
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deep unhappiness had caused him to try and end his life Yet, time and again, the Indian
police had launched these prosecutions.

The Supreme Court Judgment has overturned a 1987 decision by a division bench which had
upheld the constitution validity of the Indian law against Suicide. The judgment had ruled
that the right to life implied in the Indian Constitution does not include the right to die.

1. Which judgement of the Supreme Court will be a milestone in India's Judicial History?
(a) the one abolishing suicide

(b) the one encouraging suicide

(c) the one doing away with punishment for attempted suicide

(d) none of these

2. Why is the judgement hailed as a milestone?

(a) because it will bring relief all around

(b) because it will lessen the work of the police

(c) because it is very balanced

(d) because it will bring relief to all those being punished for attempting suicide

3. What punishment according to the passage was envisaged for unsuccessful suicide
attempts, under the Indian law ?

(a) a fine of thousand rupees

(b) death sentence

(c) one year in jail

(d) extreme torture

4. The judgement has termed Section 309 as cruel and irrational because
(a) it takes away the right to life

(b) it doubles the punishment of a tortured soul

(c) it is very lenient

(d) it provides for false accusations

5. What has the Indian police done time and again ?

(a) it has attempted to punish those guilty of trying to end their life
(b) it has punished those who have committed suicide

(c) it has imposed hardships on citizens

(d) it has violated the Constitution

6. The Supreme Court judgement

(a) has come up with the decision on its own

(b) has reversed an earlier judgement dealing with suicide
(c) is a continuation of the 1987 decision

(d) is a unique one

Pg-4o0f11



QIIL

7. In 1987, a division bench had
(a) rejected the Indian law against suicide
(b) changed the Indian law against suicide
(c) supported the Indian law against Suicide
(d) given a new meaning to the suicide law
8. The 1987 judgement had reasoned that
(a) a man was free to die
(b) the constitution did not provide for Suicide
(c) right to die in Indian Constitution was upheld
(d) the right to life in Indian Constitution had no implication of right to die
9. The word 'effaced' in the passage means :

(a) included (b) removed

(c) devised (d) none of these
10. The word 'validity' in the passage means :

(a) soundness (b) reminder

(c) stability (d) none of these

11. Who have been termed as * miserable souls' in the passage?
(a) those who committed suicide
(b) the one who are prosecuted for failing to kill themselves

(c) both (a) and (b)
(d) neither (a) nor (b)
12. Which is the most suitable antonym for the word ‘overturned'?
(a) turned (b) cancelled
(c) abolished (d) none of these

LITERATURE (10 marks)

Read the following extract carefully and choose the correct option :

( Answer any one) (5%1=5)
Though Maria Sharapova speaks with a pronounced American accent. she proudly parades
her Russian nationality. Clearing all doubts, she says. "I'm Russian. It's true that the U.S. is
a big part of my life. But I have Russian Citizenship. My blood is totally Russian. I will
play the Olympics for Russia if they want me."

1. What sentiments does Maria have for her nation?
(a) She is proud to be a Russian

(b) Praises her nation but doesn’t want to play for it.
(c) Doesn't like to go back to Russia
(

d) Proud to be an American
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2. What does Maria Sharapova wish for?
(a) To travel all over the world
(b) To play the Olympics for Russia
(c) Stay in U.S.A only
d) To settle down in Russia
3. How did Sharapova, inspite of being a Russian, acquire American accent?
(a) She has been living in U.S.A since a very small age
(b) She was forced to acquire the accent by her coach
(c) She took tuitions for learning the accent
(d) Her seniors taught her the accent

4. What is the antonym of the word "proudly'?

(a) arrogantly (b) haughtily
(c) modestly (d) greatly
5. What was Maria's age when she moved to U.S.A?
(a) 7 years (b) 8 years (c) 9years (d) 10 years
OR

I would go over to watch them clear away debris, hoping that my cat was somewhere to be
found. She was gone. I kept thinking about her as that vulnerable little kitten. In the early
morning when I would disturb her and get out of bed, she would tag along after me, climb
up my robe and crawl into my pocket to fall asleep. I was missing her terribly.
1. The author of the above story is :

(a) Oscar Wilde (b) Bill Bryson

(c) Anton Chekhov (d) None of the above
2. The debris mentioned in the extract is of :

(a) the author's school building (b) the author's house

(c) an old building (d) author's friend's house
3. The author was missing the cat terribly

(a) because she died

(b) because she was sold to someone else

(c) because she was no where to be found after the fire incident

(

d) none of the above reasons are correct
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4. The word 'vulnerable' in the extract means :

(a) valuable (b) cute (c) helpless (d) dangerous
5. The phrasal verb 'tag along' according to the extract means :
(a) to follow (b) to fight  (c) to sleep (d) to eat
QIV. Read the following extract carefully and choose the correct option :
( Answer any one) (5%1=5)
So hack and chop.

But this alone won't do it.

Not so much pain will do it.

The bleeding bark will heal

And from close to the ground

Will rise curled green twigs,
Miniature boughs

Which if unchecked will expand again
To former size.

1. In the stanza , the word 'hack' means :
(a) cut with a human hand (b) cut into pieces
(c) cut with rough blows (d) none of the above
2. In the expression "But this alone won't do it." the word 'this' refers to :
(a) exerting pressure (b) hacking and chopping
(c) only chopping (d) only hacking
3. In the phrase 'bleeding bark' the word 'bleeding' means :
(a) oozing  (b) snoozing (c) sneezing (d) none of the above
4. The twigs will expand again to former size on condition that :
(a) they will be allowed to grow freely
(b) they will not be allowed to grow freely
(c) they will be allowed to be hacked and chopped again and again

(d) they will be cut
5. Which figure of speech has been used in the line 'the bleeding bark will heal' :

(a) Onomatopoeia (b) Alliteration (c) Anaphora (d) Enjambment
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QV.

OR

The snake trying

to escape the pursuing stick,

with sudden curvings of thin

long body. How beautiful

and graceful are his shapes!
1. What is the style of the poem?

(a) free verse with unequal lines (b) sonnet
(c) five lines in every stanza (d) none
2. Which of the following pair is a transferred epithet?
(a) sudden curvings (b) snake trying
(c) pursuing stick (d) none of the above
3. Name the poet of the poem 'The Snake Trying'
(a) W.W.E Ross (b) Kenneth Anderson
(c) Gieve Patel (d) William Wordsworth
4. What is our opinion about most of the snakes?
(a) fearsome symbols of death ~ (b) faithful friends
(c) loyal to the human being (d) not harmful to us
5. What is the theme of the poem?
(a) stop cruelty towards animals (b) hate animals
(c) be away from animals (d) animals are dangerous
GRAMMAR (10 marks)

Answer the following by selecting the most appropriate option : (Answer any ten out of
twelve) (1x10=10)

1. If you had gone to Kolkata I

(a) might have also gone (b) must have also gone.
(c) would have also gone. (d) should have also gone.

2. Choose the correct reported speech of :
He said to me, "Why did you insult me?"

(a) He asked me why you insulted me.
(b) He asked me why I had insulted him.
(c) He asked me why had I insulted him.
(d) He asked me why I had insult him.
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3. The news was on Zee News.

(a) telecasted (b) telecast
(c) have telecasted (d) none of the above
4. The servant had finished the work, whenI __ him.
(a) call (b) called (c) had called (d) have called
5. Rashid has not put in his best efforts nonetheless, he pass the examination.
(a) could (b) can (c) must (d) might
6. Silver as well as gold a precious metal.
(a) is (b) are (c) have (d) had
7. Many a man ruined his life for want of a good guide.
(a) have (b) has (c) is (d) are
8. She doesn't expect help from her relatives.
(a) some (b) many (c) much (d) few
9. live an honest and pious life.
(a) few (b) a few (c) less (d) the few
10. The Gupta's insisted that we ____have dinner with them.

(a) may (b) might  (c) could (d) should
11. Choose the correct reported speech of :
He said, “Will you listen to such a man?”

(a) He asked them will you listen to such a man.

(b) He asked them would they listen to such a man.

(c) He asked them whether they would listen to such a man.
(d) He asked them whether they will listen to such a man.

12. The injured child is bleeding badly. He immediately be rushed to some
nearby hospital.

(a) must (b) need (c) could (d) should

Pg-9o0f11



SECTION - B
WRITING (10 marks)

Q.VI. You are Anshul / Anisha and today was your last online class of the session. The whole
session of class IX was full of new experiences for you in respect of teaching and learning as
schools couldn’t open because of lockdown. Make a diary entry in 100-120 words expressing
the difference you experienced between the conventional and new method of teaching. (5)

OR

You witness a child selling balloons, cotton candies, small toys etc., whenever your school bus
stops at a particular traffic signal. Write a factual description of that boy in 100-120 words
(mentioning his looks, his dressing, his activities, his facial expressions, his way of dealing
with customers etc. )

Q. VII. Write a story in100-120 words giving a suitable title that begins with the words:  (5)

"Can you help me, beta. I have lost my purse and have no money to go back to my home in

VALUE POINTS

» was waiting for my bus

» heard a plea for help from an old gentleman who had lost his purse
» gave him a hundred rupee note

» a month later at the same bus stand, the same old man seen

» was asking for help from a lady as he had lost his purse

» lost my temper
OR

Complete the following story in about 100 -120 words about a child working for a living .
Give a suitable title to it.

Chai, Chai yells Chotu as he totters along the streets of his neighbourhood. The sun shines
brightly in the sky, as the young boys and girls line up to catch their school bus, Chotu stands
and stares as the children hurriedly climb the bus....................

LITERATURE (30 marks)

Q. VIII. Answer any four out of six questions in 20-30 words : (Two out of three from
BEEHIVE and two out of three from MOMENTYS) (4%2=8)

(i) The beggar was a liar. What two lies did he tell to get money?
(ii) Why did Johnsy curse herself?
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Q. IX.

Q. XI.

(iif) Describe Prashant's first glimpse of the devastation caused by the cyclone from the
rooftop of his friend's house.

(iv) In which context 'harvests' and 'war' have been used in the poem 'No Men Are Foreign'?
(v) Where did the snake hid itself ? Why?

(vi) What things were known to the Intruder about Gerrard?

Answer any four out of six questions in 40-50 words : (Two out of three from BEEHIVE
and two out of three from MOMENTYS) (4%3=12)

(i) Why did the narrator's wife urge the curator to give Baba back to her? Did the curator
agree to do so?

(ii) What were the problems Maria Sharapova faced during her training? How did she react?
(iii) How would you describe Harris's attempt at packing?

(iv) In the story 'A House Is Not a Home' the protagonist's mother ran into the burning
house twice. What was the reason behind it?

(v) What would have happened if Olga had been a wicked old woman?

(vi) "I broke down in tears and cried and cried. I was suffering loss, big time." Why did
the protagonist break down in tears? What loss is he talking about?

. Answer any one of the two questions in 100-120 words : 5)

Discuss how James Kirkup through his poem 'No Men Are Foreign' comes up with the
message of universal brotherhood.

OR
Compare the characters of the parents of Santosh Yadav and Maria Sharapova.
Answer any one of the two questions in 100-120 words : 5)
Give a character sketch of Lushkoff.

OR

How is Prashant's handling of the crisis, a great example of courage and compassion?

3 3 3 o e e 3 3 3 36 3 Ok B B R
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ferefeiRae dier wrT & 9 {8l IR & IR <INY [1x4=4]
(i) "R e H ygAT AR § —

() ST (@) =T () fem (%) St

(ii) wfcreror s H Iu T

(@) 9 () ey () g () Hifa

(iii) ‘ST s | U @

(®) Tad (@) Wi () fraa (=) 3
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(iv) ‘3MEe’ U ¥ 9 el ves fddbey H ¥ gAY -

(P) Psarec (@) fge (1) o (®) 1es®

(V) STER' s # e ok @ -

(P) ST (F) ST, () SR () 379 | BIg 7

frferRaa dig 9 § 9 sl arR & SR A [1x4=4]
(i) ‘T Pal Y &? I8 AR [hE UBR BT 57

(®) SToETESD () geTara® (1) feeTTara® (9) Fdhdarad

(i) 37eT! DAT YR W & — Ig I & (b 9e 9§ HeHd 87
(@) Fseraras (T) geBTaTa® () fowrnfe s (9) Gegarad

(ili) ‘SHUANT W& BT [T o § :

() FRTIATT (@) FgUANT (T) ARTIIRT (8) 9+ | &

(iv) ‘Tas & faam e &

(P) REd () PR (1) BRI (57) Garet

(v) gRaar T &1 wE fadm 2

(®) g (T) g () 3R (%)

frforRaa dra wrT § 9 f6gl IR 9rf & IR QIR - [1x4=4]
(i) ‘97 P FEI yIErEr el ©

(P) T (=) T (°T) T () T

(ii) ST BT He! gATIAT Weq ©

(P) TXH (@) qrar (1) TR (&) 379 | P13 7l
(it) g — d FIed faeTreie e & w8 e

(@) Ffad — s () R =1eR (M " R (@) 99 99 2

(iv) ‘ITI—aT TR S e BT 9El fAweT §

(P) TIATARYT — 37 (T) saT—aTadd (7T) FAER — IGAET  (F) STH H BIs ol
(v) ‘AFEE—AAE FHwUTRIE wes BT |l fdeed

() TGRS () Siferm—Reror () FES—EE (5) GHTaT—aTg
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gy — Jid
=TT U 1 UgaR YAl & Halfddh Iugad el & = HIFT [1x4=4]

S U RRR & FWR

Hfer &1 farefiol faemer ;
WU efel, TRTST faefyd o
JpR fae fdhy — S |
Sy—gu I ST o

HfeR &7 S H ART ;
UGG GRECIEN

@R I B gRT |

(i) Iga Frare | fedd quid fdar Tr 2?

() HfeR () IR () fagarer () $7H | P1E TE

(ii) S d Rrer R fhaat fHeo g & ofi?

() TreHT (@) & (1) AR (&) fl Wl B |

(iii) Perer fe a1g & a7 A?

() iraT () | () = (%) Hreret

(iv) SU—egu § FAT AR or?

(®) BT () 3T () GxIpTery (B)ER

FR=ITeTRAT TATel BT Ugax UeHl & Haildeh IuYad f[ddedi b1 a3 Iy - [1x5=5]

30 WRICT W U 3R I [IIHA PR b d18 el ofl fhrol TR IR R gl a8

TR I8l 3THE & d1e ufgd g @1 aRfIa faxor grfi| amen 2, 98 g ol &R eR dlled &1
MYl 0 of AT | AR FEEiedr @l 98 Sifa| gag gl | S9d 918 § WS A8l B A
IR ASTET T | R AR, § ST € Ay <gar eier 8, iR oikar § Y #g= g1 4

Pl TR g <adl el | e <adl AR Th AJS 3ff&d <) A1 Tl W& | qadl & I dle
AT 2| gH die el fafdy! S # Rt <9 gRiEd =

(i) @RI ¥ R I YA BR &l AT?
() <@ (@) ey () gAY (¥) 3T 9 ®IE e

(ii) S B DA e S 2?

(P) <1 (@) <aar (1) AT REEN
(i) & W 7w &1 ufed # F o e forg uged gem 77
(®) AR () fagaeft (1) S =H (&) I T8 B |

(iv) ‘98 = T dfad # f5de g @) 919 &l TS 77
(@) IR BT TR0 () =gHT BT fBROl (1) Ahere B B0l (=) Aef e B
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10.

11

12

(v) 3I&® SR TP B AT Bl I8P

(®) TSR — fagarell (@) qaar oIk Ag= (1) A iR e (9) 399 A BIs AT
FR=IfTRI TTSTeT T UgaR Ul & Hailtd IuGH f[ddedi BT ad9 HIfIY - [1x5=5]
T e &R S9eR SMafAal & A 7 dT-Auied 3R ATRA® eH! Bel 31fdd e iR —3d &
fOTTehT JTARYT 32T &, Sl TR & JE—5W BT G IE@d 8 AR S q@f o foedr w@net gl &
o IHAMT 980 T WHSIA 2 | TR 37 AIRAD AR AT-AGEd ART B e AR BT, AR 98

U YfgE M UR IUIH PH BRG] A TE P GHG DRI, G HA AT T AFL, R A A
B AR $YIRT BIIH A8l 2T AT B, AR DI AMI, U] 91 Blel 3R ASH §1 |

(i) TRTD Ml AR HT TS T 2 —

(P) g& B (@) g &1 (1) GE—g S BT (°) STH A BIg el

(ii) STR fHY 3Hfdd IR BT ?

(@) 3MRa® &1 (W) ATRAD BT (1) ST @ (@) 379 4 fo<h &1 18

(i) erfe smeHl fhd ol T—figfr & forg IHwmar &7

(®) fagami &1 @@ & ()& e (@) gSIRE @

(iv) faga or@s =1 fd A &1 a1d Fel 27

(®) <aa (@) A (1) U (=) T &1

(V) YEFIBR 3 R 999 BT FATE & 82

() <114 (@) e () <aeT (¥) 37 & BI$ T
(FUs — 9)
JuiHTHS T

FfaRad weAi § | f5=51 a1 Ul & IR I 2530 weal | ARy [2x2=4]

(P) dSd B TG & AR B a7 AT WS o ol =Tl TI?
(T) SuieT UHeiE A o Rerferai & srara awran?
(M) Bfa 7 A R GErr @ 91d fh9 ddy # FE 7 iR i
Fr=IfeTRad Uedl & IR T 60—70 Tl H forfey - [4]

feq &1 Uit w=-arell sFRARAl &1 FEiT e ART gaRT fhar Sir 87 S Rl o) Reafd &
oI ‘GG Yo § B UG & AER WR DIY |

fferRad uedl # I el 2 Ul & ST I 40—50 ¥Tal ¥ forfRau : [3x2=6]

(@) free ®F o1? oRgdT 1 ST SUAR e Faeeiierdr & | fhar? fiee] Herl & R W

Ui BT |

(@) B Gl 7 RIS & A HAT AISR [HAT? Il B RIR JAThI I ART 9T YO A
2? BN @I FE & MR TR I B |
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(1) "I 31U ART N 3R 3R A — Tl St 57 ud ®oF s fog qen g ded
# ®er? fau 9 S8 U6 & YR R SR IRy |

FefaRad 3 & 6 U vy o Ry Y Aahd — [dg3ll & SMER WR ST 80—100 Wl H T
gz forfey : [1x6=6]
(P) T BT A
Had fig

® {HY BT IfABTH AGUANT

® JIWNT & a4

* I % GHUAN W T

® JHIdT Bl ol HA

o =y
(T) =N e &1 A8
Hard fig
T

S R &Y ST dr
i BT & oy
® JUUBR

(1) FER whifd
Haba fdg
° "iﬁ?b—f
TaR Hifd o1 31t
® UBR
CEIREARCRIES
® TUHER

3T 3 fAFl & A1y Bl g &3 &1 A & oy T 97 g8l & urahide Alad B o bR
BU AU Aol BT uF forRkag | [5]

31T
JMMYHT BICT A5 ¥l TEX WX ¥ Ul AT 2 9Ial 98 Wold & foly 9 =18l el o1 387 7 |

el dT Hewd FASIK gU BIC T8 &I Udh U faIRag |
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15

16

17

IS Al H 3T FHAA & | 3 IS Pl YT HIAAT BT [daR0T oI Y 30—40 [ H AL

ferfag | [5]
arerar
TG @ qaR WR 30 U fiF &1 9urs e faRaw | 30—40 wreai ¥ forfay |
< Al & 9 e SRR W HEfdd 8 arel Ware Bl oW T 50—60 ¥eal H forRay | [5]
arerar

T3 TR FRAR Fecll He1g B1 F=UAT &l oJx a1 ORI & #ed 8 arel Hals dl T
50—60 el ¥ forfgy |

R1efm & Ui SITeedl Wl 8 ART ofk@T SIS | 20—30 ¥l H ey | [5]

AT

PRIAT AIGEBH BT UATET ad Y 20—30 &I H RT oG DI |

e e 3 O e e O e 3 O o 30 o o e 3
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“ DELHI PUBLIC SCHOOL

SAIL TOWNSHIP, RANCHI
ANNUAL EXAMINATION (2020-21)
Class:- IX Subject:- Mathematics
Time- 3 Hrs. M.M- 80

General Instructions:-

=

This question paper contains two parts A and B.
2. Both part A and Part B have internal choices.

PART-A

—_

It consists two sections-Section- I and Section -II.

Section I has 16 questions of 1 mark each. Internal choice is provided in 5 questions.

3. Section II has 4 questions on case study. Each case study has 5 case-based sub-parts. An
examinee is to attempt any 4 out of 5 sub-parts.

PART-B

N

Question No.21 to 26 are very short answer type questions of 2 marks each.

Question No.27 to 33 are short answer type questions of 3 marks each.

Question No.34 to 36 are long answer type questions of 5 marks each.

Internal choice is provided in 2 questions of 2 marks, 2 questions of 3 marks and 1 question of
5 marks.

LN =

PART-A

Section-I

Direction (Q.Nos.1-16) Section | has 16 questions of 1 mark each.
1. Express 0. 58 in the form of S.
OR
Evaluate (1) x (2)* x ()7

2. In the given figure ARST, find the value of x?

OR
If an angle is 16° more than its complement, then find its measure.
3. In APQR, if 2P = 100°, PM bisects 2P and PM 1 QR then find 20Q.
4. The base and hypotenuse of a right triangle are respectively, 5cm and 13cm long. Find its area.
OR
A square and an equilateral triangle have equal perimeters. If the diagonals of the square is
12v/2cm then find the area of the triangle.
5. If the surface area of a sphere is 1447 m?, then find its volume in m3.

6. A die is thrown, what will be the probability of getting an even number?
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10.

11.

12.

13.

14.

15.

16.

17.

If the diagonals of a rhombus are 18cm and 24cm respectively, then find its side.
In a quadrilateral ABCD, 24 + £C is 2 times £B + 2D if £A = 140° and 2D = 60°, find 2B.
In AABC,AB = 5cm, BC = 8cm, CA = 7cm, if D and E are respectively the midpoints of AB and
BC, determine the length of DE.

OR
ABCD is a parallelogram and E is the midpoint of BC. DE and AB when produced meet at F
such that DE=EF. Find AF in the terms of AB.
A AABC can be constructed in which BC=6cm, 2C = 30° AC — AB = 4cm. Is this statement
true? Justify your answer.
The following marks were obtained by the students in a test 81, 72, 90, 90, 86, 85, 92, 70, 71, 83,
89, 95, 85, 85, 62. Find the range of the marks.
In a frequency distribution the mid value of a class is 10 and the width of the class is 6. Find
the lower limit and upper limit of the class.
Find the frequency of class 15-20 in the following data. 38, 10, 16, 29, 24, 18, 22, 20, 19, 17, 34, 9,
16,12, 10, 28

OR
Define primary and secondary data.
An equilateral AABC, is inscribed in a circle with centre ‘o’. Find the measure of ZBOC.
Two equal circles of radius ‘r’ intersect such that each passes through the centre of the other.
Find the length of the common chord.

OR
In a circle of radius 13cm, AB is a chord and OP is perpendicular to AB. If OP=5cm, find the
length of AB.
In the given figure, A, B, C and D are four points on a circle. AC and BD intersect at point E,

such that ZBEC = 130° and 2ECD = 20°. Find the 2BAC

Section-II
Directions (Q.Nos. 17-20) Case study based questions are compulsory. Attempt any four sub-

parts of each question. Each sub-part carries 1 mark.

D.P.S school of Delhi decided different types of tours for the students to educate them. So, In

Class IX, f—zth times the square of the total number of students planned to visit historical

Monuments :—Zth times the member of students planned to visit old age homes while 15

students decided to teach poor children.
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18.

i. Using above information, express the total numbers of students as a polynomial in term

of x
x2 7 x2 7
a—=+—x+15 b.=—+-x+10
12 12 4 4
2 2
¢+ =x+10 d.=+2Zx+15
12 12 4 4
ii. Write the coefficient of x in polynomial.
a.— b. — o= d.2
13 12 12 12
iili.  Write the coefficient of x? in polynomial.
a.— b. — o= d.15
13 10 12
iv.  valueof p(x)atx =2
a2 b. = .z d.2
2 2 3 3
V. value of p(x) at x = -1
a.— b. 2 2 d.2
2 2 2 2

Tanya makes a rangoli on the occassion of Diwali, which is in the shape as shown below.

Points D, E, F are mid-points of sides BC, AC and AB respectively.
If AB=120 cm, BC=200cm, and AC=150cm. On the basis of above information answer the
following questions:
1. The length of sides DE, EF and FD are
a. 60cm, 100cm, 75cm b. 100cm, 60cm, 75cm
c. 75cm, 60cm, 100cm d. None of the above
ii. The area of AABC is (in cm?)

a. 5v128639 b. 25v/128639
c. 107128639 d. 20v/128639
iii. =~ The area of ADEF is (in cm?)
a. % V128639 b. % V128639
c. gx/m d. 5v/128639
iv.  Which concept do you use to solve the part (iii)?
a. Mid-point theorem b. Heron's formula
c. Both (a) and (b) d. None of these
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19.

20.

V. the ratio of ar(AABC): ar(ADEF) is
a.4:1 b.1:4 c.2:1d.1:2
Following bar graph represents the pass percentage of class X and XII in CBSE examination for

5 years.

On the basis of above graph answer the following questions?

i. In which year the pass percentage of class X is highest?

a. 1995-96 b. 1996-97 c. 1997-98 d. 1998-99
ii. In how many years the pass percentage of class XII is lower than class X?

a.l b.2 c.3 d. 4

iii. ~ The difference of pass percentage of class X and XII in year 1996-97 is.

a.0 b.5 c. 10 d.15

iv.  The sum of pass percentage of class X in year 1994-95 and pass percentage of class X
in year 1998-99.
a. 186 b. 188 c. 190 d. 192

v. The ratio of pass percentage of class XII in year 1995-96 and class XII in year 1997-98
is
a.8:9 b.9:8 c.5:8 d.8:5
Government of India is working regularly for the growth of handicapped persons. for this,
three STD booths situated at A, B and C as shown in the figure, which are operated by
handicapped persons. These three booths are equidistant from each other as shown in the

figure.

i. Which type of AABC is the given figure?
a. Equilateral triangle b. Isosceles triangle

c. Right angled triangle d. Scalane triangle
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21.

22.

23.

24.

25.
26.

ii. Measure of ZABC is

a. 45° b. 60° c. 30° d. 90°

iii. If AB=6cm, then value of BC+CA is

a. 10 b.12 c.14 d. 16

iv. Measure of 2BOC is

a. 90° b. 100° c. 120° d. 50°
v. Value of (20BC + £0CB) is

a. 60° b. 30° c. 45° d. 90°

PART-B

Directions (Q.Nos.21-26) carries 2 marks each.

In the given figure, AB || DE. Prove that £ABC + £BCD = 180° + 2CDE

D g

C
R B
In 50 throws of a die, the outcomes were noted as under

Outcomes 1 2 3 4 5 6
No. of times | 8 9 6 7 12 8

A die is thrown at random. What is the probability of getting an even number?
OR

Given below is the frequency distribution of daily wages (in Rs) of 30 workers in a certain

factory

Daily wages | 110-130 | 130-150 | 150 - 170 170-190 | 190-210 |210-230 | 230-250
(Rs)

No. of 3 4 5 6 5 4 3
workers

A worker is selected at random. Find the probability that his wage is

i at least Rs. 210

ii. more than or equal to Rs. 150 but less than Rs. 210

Express Y in terms of x in the equation 2x-3y=12. Find the points where the line represented by

the equations 2x-3y=12 cut the X - axis.

In which quadrant or axis do the given points lie?

a. (4,-2) b. (-2, 0) c. (-1,-2) d.(-3,7)

OR

Plot the points A(-2, 4), B(-2, -3), C(4, -3) and D(4, 4) and name the figure ABCD.

Draw a line segment AB = 11cm and divide it into 3 : 4 part.

The blood groups of 30 students of class ix are recorded as follows:
A,B,0,0,AB,0,A,0,B,A,0,B,A,0,0,A,AB,0,A,A,0,0,AB,B,A,0,B,A,B,O

Represent this data in the form of a frequency distribution table.
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27.

28.

29.

30.

31.
32.

33.

34.

Directions (Q.Nos.27 - 33) carries 3 marks each.

. . 1
Rationalise NN
OR
_ \/g_\/i _ \/§+\/E . 2 2
Ifx = N and y = vy then find the value of x* + xy + y~.

A floral design on a floor is made up of 16 tiles which are triangular, the sides of the
trianglebeing 9cm,28cm and 35cm.Find the cost (correct to two decimal places) of polishing the
tiles at the rate of 50paise per square centimetre.

In the following figure, ABCD is a square and EF is parallel to diagonal BD and EM=FM.

Prove that
i. DF = BE ii. AM bisects 2BAD
R A
F
M
C E B

OR
ABC is a triangle in which 2B = 2£C. D is a point on side BC such that AD bisects
£BAC and AB = CD. Prove that ZBAC = 72°
E and F respectively the midpoints of the non-parallel sides AD and BC of a trapezium ABCD.
Prove that EF || AB and EF =~ (AB + CD).
Construct a APQR, such that QR = 6¢cm, 2Q = 60° and PR — PQ = 2cm.

Draw a histogram to represent the following frequency distribution.

C.I. |10-15 15-20 20-25 25-30 30-35
F 6 10 10 8 18

The chord ED is parallel to the diameter AC. Determine 2CED. Given that 2CBE = 50°

B

500

E D
Directions (Q.Nos. 34 - 36) carries 5 marks each.

A semi circular sheet of metal of diameter 28cm is bent to form an open conical cup. Find the

capacity of the cup.
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35.

36.

Prove that the angle subtended by an arc at the centre is double the angle subtended by it at
any point on the remaining part of the circle.

OR
AB and AC are two chords of a circle of radius ‘v’ such that AB=2AC. If ‘p” and ‘q” are the
distances of AB and AC from the centre, then prove that 4q = p? + 3r2.
ABC is a triangle right angled at C. a line through the midpoint M of hypotenuse AB and
parallel to BC intersects AC at D. show that

i. AD=CD ii. MD 1 AC iii. CM = MA = %AB

K e e e e
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DELHI PUBLIC SCHOOL

SAIL TOWNSHIP, RANCHI
ANNUAL EXAMINATION (2020-2021)

Class:- IX Subject:- Social Science
Time:- 3 Hrs. F.M. :- 80

General Instructions:-

a) All Questions are compulsory.
b)  Marks are indicated against each question.
c) Questions carry 1 mark are objective type questions. Answer them as instructed.
d)  Questions carry 3 marks are short answer type questions. Answer of these questions should
not exceed 80 words each.
e) Questions carry 5 marks are long answer type questions. Answer of these questions should
not exceed 120 words each.
f) Map questions from History (2 marks) and Geography (4 marks) respectively.
HISTORY
SECTION - A
Very Short Answer Question
Q.1. The name of St. Petersburg changed to Petrograd after 1914 because: ey
(a) Russians disliked the earlier name
(b) Anti-German sentiments during war made the Russians change the name
(c) Russian monk Rasputin advised the Tsar to change the name
(d) Russians wanted a shorter and simpler name
SECTION - B
Short Answer Questions
Q.2.  “The Treaty of Versailles was humiliating on the Germans.”. Explain any three reasons. (3)
OR
Explain any three ways in which Nazi state established total control over its people.
Section - C
Q.3. Read the source given below and answer the questions that follows: (1+1+1+1=4)

Socialist were against private property, and saw it as the root of all social ills of the
time. Why? Individuals owned the property that gave employment but the propertied
were concerned only with personal gain and not with the welfare of those who made
the property productive. So if society as a whole rather than single individuals
controlled property, more attention would be paid to collective social interests.
Socialists wanted this change and campaigned for it.
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Socialists had different visions of the future. Some believed in the idea of cooperatives.
Robert Owen (1771-1858), a leading English manufacturer, sought to build a
cooperative community called New Harmony in Indiana (USA). Other socialists felt
that cooperatives could not be built on a wide scale only through individual initiative;
they demanded that governments encourage cooperatives. In France, for instance,
Louis Blanc (1813-1882) wanted the government to encourage cooperatives and replace
capitalist enterprises. These cooperatives were to be associations of people who
produced goods together and divided the profits according to the work done by
members.

Karl Marx (1818-1883) and Friedrich Engels (1820-1895) added other ideas to this
body of arguments. Marx argued that industrial society was ‘capitalist’. Capitalists
owned the capital invested in factories and the profit of capitalists was produced by
workers. The conditions of workers could not improve as long as this profit was
accumulated by private capitalists. Workers had to overthrow capitalism and the rule
of private property. Marx believed that to free themselves from capitalist exploitation,
workers had to construct a radically socialist society where all property was socially
controlled. This would be a communist society.

(3.1) Which of the following statements correctly describes the reason why socialist were
against private property?
(a) It made person idle
(b) It was the root of all social ill
(c) Individual owned it and used it for their own gain and not for others
(d) Both (b) and (c)
(3.2) What changes were wanted by the socialists regarding private property?
a) Society as a whole should control property
b) Socially controlled property could give more attention to collective social interests
c) Socialist leaders should control property
d) Both (a) and (b)
(3.3

(

(

(

(

) Socialists had visions of the future which included

(a) Cooperative should be built for the sake of people’s interest

(b) Government should encourage cooperatives

(c) Cooperatives were to be association of people who produced goods together and divided
the profits

(d) All of the above
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(3.4) In a Communist society, according to Marx and Engels

(a) all property was socially controlled
(b) workers had to overthrow capitalists
(c) workers should become the leaders
(d) All of the above
SECTION -D

Long Answer Questions (5X2=10)

Q.4. Explain the features of the constitution of France drafted in 1791.
Q.5. What were the steps taken against the Jews between 1933-1939?

SECTION - E

Map Skill Based Question 2

Q. 6. Two places (i) and (ii) are marked on the given outline political map of France. Identify
these places and write their correct names on the Answer sheet
(i) Place associated to slave trade.
(ii) Place associated to national anthem of France.
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POLITICAL SCIENCE
SECTION - A

Very Short Answer Questions (1X5=5)

Q.7. Why are China and Mexico not regarded as democracies despite holding elections?
(a) Because they are communist countries
(b) Because they are monarchies
(c) Because China and Mexico are under military rule
(d) Because elections in China and Mexico do not offer any political alternatives
and the people cannot remove the existing rulers

Q.8.  Since 1930, which country holds elections after every six years and which has never been
under a military or dictator’s rule?

(a) Nepal

(b) Mexico

(c) Ghana

(d) Zimbabwe

Q.9.  Which of the following combination is the correct sequence regarding the ideals of the Indian
Constitution?

(a) Secular, Sovereign, Socialist, Democratic Republic
(b) Socialist, Sovereign, Secular, Democratic Republic
(c) Sovereign, Socialist, Secular, Democratic Republic
(d) Secular, Socialist, Sovereign, Democratic Republic
Q.10. The President of India is elected by
(a) Direct election by citizens who are 18 years or above
(b) Indirect election by the electoral college
(c) Prime Minister and the Council of Ministers
(d) None of the above
Q.11. Who among the following is not part of the permanent executive?
(a) District Collector

(b) Superintendent of Police
(c) Minister of State for Home Affairs
(d) Accountant General
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Q.12.
Q.13.

Q.14.

SECTION -B

Short Answer Questions (3X2=6)

Explain any three essential features of democracy.
Explain with an example how popular governments can be undemocratic and popular
leader can be autocratic.
OR
ZANU-PF wins the elections every five years in Zimbabwe. Are the leaders of ZANU-PF
close to the values of democracy? Explain.
SECTION - C

Read the source given below and answer the questions that follows: (1+1+1+1=4)

The Constitution does not reflect the views of its members alone. It expresses a broad
consensus of its time. Many countries of the world have had to rewrite their Constitution
afresh because the basic rules were not acceptable to all major social groups or political
parties. In some other countries, the Constitution exists as a mere piece of paper. No one
actually follows it. The experience of our Constitution is different. Over the last half a
century, several groups have questioned some provisions of the Constitution. But no large
social groups or political party has ever questioned the legitimacy of the Constitution itself.
This is an unusual achievement for any Constitution.

The second reason for accepting the Constitution is that the Constituent Assembly
represented the people of India. There was no Universal Adult Franchise at that time. So
the Constituent Assembly could not have been chosen directly by all the people of India. It
was elected mainly by the members of the existing Provincial Legislatures that we
mentioned above. This ensured a fair geographical share of members from all the regions of
the country. The Assembly was dominated by the Indian National Congress, the party that
led India’s freedom struggle. But the Congress itself included a variety of political groups
and opinions. The Assembly had many members who did not agree with the Congress. In
social terms too, the Assembly represented members from different language groups,
Castes, classes, religions and occupations. Even if the Constituent Assembly was elected by
Universal Adult Franchise, its composition would not have been very different.

(14.1) The Constitution always reflects
(a) the views of the members of Drafting committee
(b) a broad consensus of the time when it is written
(c) views of the democrats

(d) Both (a) and (b)
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(14.2) What is the difference between Indian Constitution and the Constitution of
other countries

(a) In some other countries, the Constitution exists as a mere piece of paper
(b) In India the legitimacy of the constitution is never questioned

(c) Every country follow its religion religiously

(d) Both (a) and (b)

(14.3) How were the members of the Constituent Assembly chosen?

(a) By the Universal Adult Franchise

(b) By the Prime Minister

(c) By the members of the existing Provincial Legislatures
(d) None of the above

(14.4) The members of the Constituent Assembly mainly came from
(a) Members of different language, groups, castes, classes, religions and occupations
(b) The Indian National Congress

(c) The members of the Parliament

(d) Both (a) and (b)
SECTION - D
Long Answer Questions
Q.15. Explain the stages of election process in India. )
ECONOMICS
SECTION - A
Very Short Answer Questions
Q.16. In the question given below, there are two statements marked as Assertion (A) (1)

and Reason (R).
Read the statements and choose the correct option.
Assertion (A) Rickshawallas, tongawallahs, jeeps, tractors and trucks ferry people
and goods from Palampur to Raiganj, and in return get paid for it.
Reason (R) There are a variety of vehicles on the road connecting Palampur to Raigan,j.
Codes

(a) Both A and R are true and R is the correct explanation of A

(b) Both A and R are true, but R is not the correct explanation of A
(c) A is true, but R is false

(d) A is false, but R is true
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Q.17. The main reason why farmers are able to grow two or three crops in a year is due to: 1)
(a) Persian wheels
(b) Well-developed system of irrigation
() HYV seeds
(d) Expansion of land area

Q.18. Match the following items given in column A with those in column B. Choose the correct

answer from the options given below: (1)
Column A Column B
A Land (i) Work
B Labour (i) Enterprise
C Physical capital (iii) Inputs
D Human capital (iv) Natural resources
Options:
A B C D
(@ () (i) (iv) ()
(b) @ (i) (if) (iv)
© @ G @ (i)
@ @ O @ G
Q.19. Which of the following is not an anti-poverty programme? (1)
(a) NREGA
(b) AAY
(c) NSSO
(d) PMGY
Q.20. The calorie requirement is higher in rural areas because: (1)

(a) they do not enjoy as much as people in urban areas
(b) food items are expensive

(c) they are unemployed

(d) people are engaged in more physical labour

SECTION - B

Short Answer Questions (3x2=6)
Q.21. Explain three reasons why small farmers have to arrange capital by borrowing.

Q.22. Explain any three social indicators through which poverty is looked upon.
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SECTION - C
Q.23. Read the source given below and answer the questions that follows: (1+1+1+1=4)

Let us discuss about the employment scenario in the three sectors mentioned earlier.
Agriculture, is the most labour absorbing sector of the economy. In recent years, there has
been a decline in the dependence of population on agriculture partly because of disguised
unemployment discussed earlier. Some of the surplus labour in agriculture has moved to
either the secondary or the tertiary sector. In the secondary sector, small scale manufacturing
is the most labour absorbing. In case of the tertiary sector, various new services are now
appearing like biotechnology, information technology and so on.

(23.1) Which sector employs the largest labour force in India
(a) Tertiary
(b) Primary
(c) Secondary
(d) Manufacturing
(23.2) New services appearing in tertiary sector are
(a) biotechnology
(b) small scale manufacturing
(c) agriculture
(d) mining
(23.3) Due to disguised unemployment labour is moving towards which sectors?
(a) From tertiary to secondary
(b) From agriculture to secondary
(c) From secondary to agriculture
(d) From secondary to tertiary

(23.4) If you are working in the field of information technology, then you are absorbed
in which sector?

(a) Tertiary sector

(b) Manufacturing sector
(c) Primary sector

(d) Secondary sector

SECTION - D
Long Answer Questions
Q.24. Explain any five causes of poverty in India. ®)
OR

How is poverty reduction the most compelling challenge for India? Explain.
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Q.1

Q.2.

Q.3

GEOGRAPHY

Fill in the blank:
The Ocean routes which connect the countries of Europe in the West
and the countries of East Asia provide a strategic central location to India. (1)

OR

The western most longitude of India is

Choose the correctly matched pair about the different physical features of India from
the following;: (1)
A. Peninsular Plateau - Unstable Zone.
B. Great Indian Desert - Barchans
C. Coastal Plain - Coral Reefs
D. Purvachal - Duns
Fill in the blank:

Mahawat: Winter rain, Kaal Baisakhi: Thunderstorms with torrential downpours,

Mango showers: . (1)
A. Cyclonic rain

B. Monsoonal rain

C. Pre-monsoon rain

D. Relief rain

Q.4. Identify the vegetation belt with the help of the following features. (1)

* Have long roots penetrating deep into the soil to absorb moisture.
* Stems are succulent to conserve water.
* Leaves are mostly thick and small to minimize evaporation.

Q.5. Wildlife Protection Act was implemented in in India.

M
A. 1970
B. 1973
C. 1972
D. 1971

Q.6. Which are the most widespread forests of India? Mention any two features of

these forests. 3)
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Q.7. Read the text given below and answer the following questions.

The Northern Plain is broadly divided into three sections. The Western part of the Northern
Plain is referred to as the Punjab Plains. Formed by the Indus and its tributaries, the larger
part of this plain lies in Pakistan. The Indus and its tributaries - the Jhelum, the Chenab, the
Ravi, the Beas and the Satluj originate in the Himalaya. This section of the plain is
dominated by the doabs.

The Ganga plain extends between Ghaggar and Teesta rivers. It is spread over the states of
North India, Haryana, Delhi, U.P., Bihar, partly Jharkhand and West Bengal to its East,
particularly in Assam lies the Brahmaputra plain.

The Northern plains are generally described as flat land with no variation in its relief. It is
not true. These vast plains also have diverse relief features. According to the variation in
relief features, the Northern plains can be divided into four regions.

Answer the following MCQs by choosing the most appropriate option.

7.1 The Northern Plains are formed of soil. (1)

A. Black soil
B. Alluvial soil
C. Laterite soil

D. Arid soil
7.2 The Northern plains are classified into different regions according to the
variations in relief features. Identify the relief features of different regions: (1)
Regions Relief Features
a. Bhangar | 1. Streams disappear
b. Bhabar 2. Wet, swampy and marshy region
C. Terai 3. Newer younger deposits of the flood plains
d. Khadar 4. Older alluvium

A. a-1,b-2,c-3,d4
B. a-4,b-1,c-2,d-3
C. a-2,b-3,c-1,d4
D. a4,b-1,c-3,d-2

7.3 Two common features of Northern Plains are and . (1)

A) Glaciers and Passes

B) Riverine islands and distributaries..
C) Duns and hill stations.

D) Ghats and Atolls.
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Q.8.

Q.9.

7.4 Northern plain is a densely populated physiographic division due to:
A. Fertile soil cover with adequate water supply
B. Favourable climate
C.BothA &B
D. None of these

Explain the characteristics of the monsoon rainfall in India.
OR
Describe the mechanism of monsoons.

Locate and label any Three of the following with appropriate symbols on the
outline political map of India.

A. Karakoram Mountain Range

Anai Mudi Mountain Peak

Sambhar Lake

Kaziranga National park

Dachigam Wild Life Sanctuary

monw

INDIA

OUTLINE MAP WITH STATES
& UMNION TERRITORIES

e PR
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DELHI PUBLIC SCHOOL

SAIL TOWNSHIP, RANCHI
ANNUAL EXAMINATION (2020-21)

Class:- IX Subject:- Science
Time- 3 Hrs. M.M- 80

General Instructions:-

a) All Questions are compulsory.
b) Marks are indicated against each question.
PHYSICS
SECTION - A
1. A particle is moving in a circular path of radius r. What would be the displacement after
half a cycle? [1]
2. Define the S.I unit of force. [1]
3. Name the physical quantity which determines the direction of momentum of
an object. [1]
OR
Write down the S.I unit of momentum.
4, Define Universal Gravitational constant. [1]
5. A Lamp consumes 1000 joule of electrical energy in 10 second. What is its power? [1]
6. Convert one joule into erg. [1]
OR
A battery lights a bulb. Describe the energy changes involved in the process.
7. Read the following and answer any four questions from 7 (i) to 7 (v).

Velocity- time graph shows how the velocity of a body changes with passage of time. To draw
velocity- time graph, velocity of the body is plotted along y-axis and the time taken is plotted
along x- axis. The area under velocity -time graph gives displacement. [1x4=4]

(i) The speedometer readings of car at different times are given below:

Time Speedometer reading
9:25am 36kmh-1
9:45am 72kmh-1
The acceleration of the car is:
(@) 1.8m/s? (b) 1/120m/s? (c) 1/420m/s? (d) 4.8m/s?
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8.

(ii) A girl is sitting on a merry -go-round which is moving with a constant speed of 10ms-1.
This means that the girls is
(@)  atrest (b) moving with no acceleration
(c)  inaccelerated motion (d) moving with uniform velocity.
(iii) Slope of a velocity-time graph gives
(@) The distance (b) The displacement (c) The acceleration (d) The speed
(iv) A bridge is 400m long. A 150m long train crosses the bridge at a speed of 50ms1.Time
taken by the train to cross it.
(@)5s (b) 8s (c)6s (d)11s

(v) From the given V-t graph, it can be inferred that the object is

TV

— t
(@  Inuniform motion (b) At rest
(b)  Innon -uniform motion (d) Moving with uniform acceleration

Read the following and answer any four questions from 8(i) to 8(v). Energy exists in many
different forms. The change of one form of energy into another form of energy is known as
transformation of energy. When energy changes from one form to another, there is no loss or
gain of energy. The total energy of the system before and after transformation remains the
same. [1x4=4]
(i) In case of riding a bicycle

(a) The muscular energy is converted into kinetic energy of the bicycle

(b) The kinetic energy is converted into the muscular energy
(c) The potential energy is converted into mechanical energy
(

d) None of the above

(ii) The potential energy of a freely falling object decreases progressively, then

—
Q

) Total mechanical energy will decrease

(b)  Total mechanical energy will increase

(c)  Total mechanical energy will remain constant
(d)  None of the above
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10.

11.

12.

(iii) The velocity of a body of mass 100 g having a kinetic energy of 20 J is

(a) 10ms-1 (b) 15ms1 (c) 20ms?  (d) 25 ms?
(iv) The work done is not measured in

(2) Nm (b)] @erg (/s
(v) The work done in lifting 200kg of mass through a vertical distance of 6 m is

(a) 10000] (b) 12000] (c) 15000]  (d) 19000]

SECTION - B

Calculate the average density of the earth in terms of g, G and R. [2]
(a) State the principle of conservation of energy. [2]

(b) Write down the relation between kinetic energy, mass and linear momentum.

SECTION - C
Derive the following equations of motion (graphically): [3]
(@ v=u+at (bys=ut+1/2at? (c) v2-u2=2as

SECTION -D

(a) State and prove the principle of conservation of linear momentum.

(b) A car of mass 2000kg is decelerated uniformly from a velocity of 10ms-!
to 5ms in 5s by applying brakes. Calculate the initial and final momentum of the car.
Also, find the magnitude of the retarding force exerted by breaks on car. [5]
OR
(@)  State Newton second law of motion and prove that force is equal to the product of
mass and acceleration of an object.

(b) A hammer of mass 500g, moving at speed of 50m/s, strikes a nail. The nail stops the
hammer in a very short time 0.01s. What is the force on the nail by the hammer?

CHEMISTRY
How can you say that bronze is a mixture and not a compound ? [1]
Give an example of [1]
(a) a divalent anion  (b) a trivalent cation
State the law of constant proportion. [1]
OR

Write two limitations of Dalton’s atomic theory.
The following question consists of assertion (A) and reason (R). Use the following key to
select the correct answer. [1]

a) Both assertion and reason are correct and reason is the correct explanation of assertion.

b) Both assertion and reason are correct but reason is not the correct explanation of assertion .

(

(

(c) Assertion is true but reason is false.

(d) Assertion is false but reason is true.
Assertion : Atomic mass of calcium is 40 u.

Reason: An atom of calcium is 40 times heavier than an atom of carbon with mass 12 u.
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10.

11.

Read the following and answer any four questions from 5(i) to 5(v) [1x4=4]

In the extra nuclear portion of an atom, electrons are distributed in different energy levels also
known as energy shells. With the exception of helium which has two electrons in the only shell
(K- Shell ), all other elements with eight electrons in the outermost shells ( complete octet ) are
regarded as noble gas elements . These are very little reactive chemically . Atoms of all other
elements do not have a complete octet .They therefore, take part in the chemical combination
with atoms of similar elements which also do not have complete octet.

(i) What will be the valency of an element with electronic configuration 2,6 ?
(i) How many electrons does an atom of nitrogen need to have a noble gas configuration?

(iii) How will you represent the new species which is formed when nitrogen gets noble
gas configuration?

(iv) A species has 6 electrons and 7 protons .Is it a cation or anion?
(v)  How many electrons are present in He?* ion?
SECTION- B

Why is crystallisation better than evaporation for the separation of mixtures? [2]
OR
How do sol and gel differ from each other ? Give one example of each.

Distinguish between

(a) molecular mass and molar mass
(b) molecule of an element and molecule of a compound [2]

SECTION - C

a) List two conditions essential for using distillation ( simple distillation) as a method for
separation of the components of a mixture.
b) On dissolving chalk powder in water , a suspension is obtained. Give any four reasons to

support the fact that mixture so obtained is a suspension only . [3]

a) Define the term mole. [3]

b) What weight of calcium will contain the same number of atoms as are present in 3.2 g of

sulphur ?

How does the atmosphere acts as a blanket ?How is our atmosphere different from the

atmosphere on Venus and Mars ? [3]
SECTION - D

a) State the three observations made by Rutherford on his alpha - particle scattering
experiment.
b) If bromine atom is available in the form of two isotopes 357°Br (49.7% ) and
35°1Br (50.3% ) , calculate the average atomic mass of bromine atom. [5]
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OR
Give reasons for the following;:
a) Isotopes of a element are chemically similar.
b) An atom is electrically neutral.
c) Noble gases show least reactivity.
d) Nucleus of an atom is heavy and positively charged.
e) Ions are more stable than atoms.

BIOLOGY
SECTION- A

Why do we get a crunchy and granular feeling when we chew pear fruit?
How are the terms chromatin and chromosomes interrelated?

OR
Name the two organelles in a plant cell that contain their own genetic material and
ribosomes.

Which type of connective tissue is present in hump of camel and blubber of whale?
Mention any one function of this tissue.

OR
Where do you find ciliated columnar epithelial tissue in our body? What function does
it perform?

Mention one difference between tendon and ligament with regard to their function.

For question numbers 5 and 6, two statements are given- one labeled Assertion (A) and
the other labeled Reason (R). Select the correct answer to these questions from the codes
), (b), (c) and (d) as given below: -

(a
(a) Both A and R are true, and R is correct explanation of the Assertion.

(b) Both A and R are true, but R is not the correct explanation of the Assertion.

(c) A is true, but R is false.

(d) A is false, but R is true.

Assertion: Xylem parenchyma is considered as a living tissue.

Reason: It has protoplasm.

Assertion: Leucoplasts are colourless plastids.

Reason: Leucoplasts are associated with storage of various types of food materials.
Read the following passage and answer any four questions from 7(i) to 7(v):

UNICEF, in collaboration with WHO, has initiated a Pulse Polio Immunization
Programme (PPIP) in India. This programme has been taken on a war footing to
completely eradicate polio. Immunization camps at regular intervals are being
organized. The organizers are knocking on every door to immunize children up to five
years of age.
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i.  The WHO defines Polio as

a. a highly infectious bacterial disease
b. a highly infectious viral disease
c. a fungal infection
d. a protozoan disease

ii. In our country, Pulse Polio Programme is organized to
a. prevent the entry of polio causing microbe
b. eradicate polio completely
c. kill the causative microbe
d. none of these

iii. ~ Under this programme, Polio drops would be administered to children
a. below five years of age
b. above ten years of age
c. of all age groups
d. none of these

iv.  The concept of vaccination was first invented by
a. Louis Pasteur
b. Alexander Fleming
c. Edward Jenner
d. Carl Landsteiner

v.  The process of introduction of weakened pathogen into human body is called
a. Immunization
b. Vaccination
c. Eradication
d. None of these

SECTION- B
8. Why is epidermis considered as a protective tissue in plants? Mention two points.
OR

Distinguish between parenchyma and collenchyma on the basis of their location and
function.

9. Draw a neat diagram of a eukaryotic nucleus and label any four parts.

(Use dark HB pencil or a black pen for drawing and labelling diagram.)
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SECTION- C

. a. Expand AIDS.

b. Why does a person suffering from AIDS falls sick frequently?

c. List any two modes by which AIDS get transmitted from a patient to a healthy
person.

OR
Mention one point of difference between

a. Acute diseases and chronic diseases
b. Personal health and community health
Infectious and non-infectious diseases

n

. a. Mention two differences between rough and smooth endoplasmic reticulum.
b. How is endoplasmic reticulum important for membrane biogenesis?

. Explain giving reasons: -

a. We are normally advised to take bland and nourishing food when we are sick.
b. Prevention is better than cure.
c. Making anti-viral medicines is harder than making anti-bacterial medicines.

SECTION- D

. a. Draw neat labelled diagrams of the three types of muscle fibres.
(Use dark HB pencil or a black pen for drawing and labelling diagram.)

b. Differentiate between any two muscle fibres drawn above on the basis of their
location and function.

O 3 O e Ok o 3 O e O e 3 ok e Ok
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DELHI PUBLIC SCHOOL

SAIL TOWNSHIP RANCHI
Annual EXAMINATION (2020-21)

Class-IX Subject: French
Time: 3 Hrs. M.M: 80

Section - A

Comprehension: 10 MARKS

1. Lisez le texte suivant et répondez aux questions

L'histoire de Saint Valentine

L'empereur romain Claudius II combattait, beaucoup de guerres. Il a voulu une armée forte
mais beaucoup d’hommes n'ont pas voulu etre des soldats parce qu'ils ont voulu rester a la
maison avec leurs épouses et leurs enfants au lieu de partir aux guerres.

Claudius adécide de décommander tous les mariages. Personne n'ont pu se marier a Rome.
Il a pensé étre des soldats.

que si les hommes ne pourraient pas se marier, ils ignoreraient les femmes et voudraient étre

des soldats.

Valentine qui était un pretre, a cru que si les gens n'étaient pas mariés, ils seraient tentés
au péché en vivant ensemble sans étre marie. Ainsi il a secrétement marié des couples dans
les endroits secrets mais les soldats romains I'ont découvert.

Valentine a été arrété et apporté devant I'empereur. L'empereur lui a demandé de ne pas étre
un chrétien et de devenir un roman fidéle. Valentine I'a refusé. Il a été enyoyé a la prison
jusqu'a ce qu'il pourrait étre exécuté. Tandis qu'il était en prison, il a écrit des lettres a ses
amis et a demande d'étre prié pour, par écrire "rappellez votre Valentine".

(a) Répondez aux questions suivantes : [2]

(i) Pourquoi Claudius a décommandé les mariages?

(i) Qu'est-ce que Valentine a cru?

(b) Complétez avec un mot du texte. [2]

(i) Les cccovvveuenne servent la nation. [épouses/romain/soldats]
(ii) Le voleur a été envoyéen ............ (prison/ guerres/exécuté)

(iii) Ils ont un beau région.[fidele/découvert/voulu]



(iv) Il va se........... bientot. (marier/décidé/devenir)
(c) Trouvez dans le texte [2]

(i) un autre mot pour "marier"
(ii) Le contraire de "la paix"

(d) Trouvez le temps des verbes. [2]
(i) Pourrait

(ii) était
(E) Dites vrai ou faux. [2]
(1) Les hommes n’ont pas voulu étre des soldat parce qu’ils ont déteste les guerres.

(ii)  Valentine a secretement fait marié les couples.
(iii) Valentine était un roman fidéle.
(iv) L’empereur a voulu exécuter valentine.

Section - B
Writing : 20 MARKS

2. Ecrivez une lettre d'environ 80 mots. [10]

Ecrivez une lettre a votre ami(e) lui invitant chez vous pour passer les
vacances d'été.

Ou
Ecrivez une lettre a votre ami(e) pour l'inviter a Delhi.

3. Faites deux des questions suivantes: [2x5=10]

(a) Décrivez I'image de cet homme a l'aide des expressions données.



(grand homme, manteau, pantalon, les cheveux courts, des lunettes ...)

(b) Laissez un message pour votre ami(e) lui informant que vous ne pouvez
pas venir chez maison.

Section - ¢
Grammaire : 30 MARKS

1. Mettez ces phrases au négatif : ( Any six question) 6M
(i) Tu as déja fini ton devoir. [ne........ rien / ne pas encore]

(i) I1 se leve toujours a 6h. (ne .......... jamais pas]

(iii) Quelqu'un est entré dans la maison. [ne..... rien / Personne n' .......... ]
(iv) Il fait du gateau. [ne ..... pas / ne plus]

(v) Elle achete de la pomme. [n'......Pas encore / n'..... pas]

(vi) Vous voulez quelque chose a boire. [ne jamais / ne ..... rien]

(vii) J'ai quelque chose a faire. [n'.......... rien /ne ....... personne)

(

viii) Il y a quelqu'un la-bas. [n'........ personne / n'.............. rien]

2. Complétez les phrases avec les conditionnel present. 4M
(i) Si tu voulais, je.......(pouvoir) venir.
(ii) Si vous étudiiez, vous .............. (devenir) le médecin.

(iil) Jerrerenennne (venir) chez toi, si tu m’invitais.
(iv) Sij'avais de l'argent, j'............. (acheter) un vélo.



(v) S'il courait vite, il ............ (gagner) la

zourse.
(vi) Si tu allais au théatre, je t'................ (accompagner).

(vii) Si elle était en retard, il.................... (partir)

(viii) Si tu habitais a Paris, tu.................... (aimer) la ville.

3. Remplacez les mots soulignés par le/la/l’/les. 10 M

1. Le soir, on recoit les amis.

2. On passe le weekend a la campagne ?

3. Nous faisons les courses avant de partir.

4. L'apres midi, on fait la sieste dehors s'il fait beau.
5. Je conduis la voiture.

6. Ma femme arrosera le jardin.

7. Vous prenez le métro tous les jours.

8. Les enfants retrouvent leurs copains.

9. Elle range un peu la maison.

10. La femme invite sa voisine au déjeuner.

4. Complétez avec le passé composé ou l'imparfait. ™
1) Sylvie : Que (faire)-vous quand le téléphone .............. (sonner)?
2) Catherine : J'............. (étre) dans la cuisine. Je.......... (préparer) le
déjeuner. Le bébé............... (pleurer). Il..........c..c....... (avoir) faim.
3) Sylvie : Alors, vous n'............... PaS..eceenenen. (répondre) ?
4) Catherine : Non. C'................ (étre) trop difficile. Alors on......... (laisser)

un message sur le répondeur.

5) Sylvie: Et vous.................... (rappeler) plus tard ?
6) Catherine : C'est ¢ca. Quand tout................ (étre) plus calme,
J oo (écouter) le message et............... (rappeler)
tout de suite.sylvie, vous............. ( gagner) le grand concours, c’était ca le
message?
5. Mettez les verbes au temps convenable : 3M

(i) Quand il......(revenir) de France, j'étais a Delhi.



(a) revenait (b) est revenu

(ii) Sij'ai de la chance, je.............. (devenir) une vedette.
(a) deviendrai (b) deviens (c) suis devenu
(ii) Nous....... (voir) un concert ce soir.
(a) voyons (b) allons voir (c) verrons
(iv) Si tu pouvais faire ce devoir, le professeur............. (étre) heureux.
(a) sera (b) était (c) serait
(v) Demain, elles ...................... (savoir) la vérité.
(a) savoiront  (b) sauront (c) auront su
(vi) Quand il.......c..cc.ce.e.. (frapper) a la porte, j'étudiais.

(a) frappait (b) a frappé (c) est frappé

Section D
Literature : 20 MARKS

1. Répondez aux questions, (cinq au choix) [10]

i) Nommez des reliefs francais ?

ii) Que represente la marionnette au théatre de Guignol ?

(
(
(iii) Que fait-on le jour de premier mai?
(iv) Qu'est-ce que c'est "les étrennes" ?

(v) Que savez-vous de la Francophonie?

(vi) Qui est Lara Fabien ?

2. Dites vrai ou faux. [2]
(i) La Seine, le Rhone et la Loire sont les villes francaises.

(ii) Corse est une petite ile au nord de la France.

(iii) Le massif Central et les Vosges sont des reliefs de la France.
(

iv) La Loire traverse Paris.



3. Chassez l'intrus.. [2]
(i) Le feutre / le stylo-bille / la gomme / I'imprimante

.

(ii) Le week-end / les vacances / les jours / les congés
(ii) TV5 / SNCF / TGV / Eurostar
(

iv) voisin / ami / camarade / soeur

4. Reliez et récrivez. [3]
(i) Le monde (a) petite ile

(ii) Régime (b) boulangerie

(iii) La Corse (c) chanteuse canadienne

(iv) La baguette (d) parfum francgais

(v) pateau (e) légumes

(vi) Céline Dion (f)journal francaise

5. Complétez. (aller-retour/patisserie/hebdomadaire/Onésime Reclus/Societé
nationale des chemins de fer francais/charcuterie) [3]

(1) La bache est une.........................

(ii) SNCF est la......ccoeerecvrenenennee

(I1) coverenrennne a créé le mot «francophonie>>

(§170 IRURR veut dire un billet pour aller d'un endroit a I'autre et pour rentrer
aussi

(v) On peut acheter le boeuf a la ...................

(vi) Pariscope est un.........cccccceueuneee.



DELHI PUBLIC SCHOOL, RANCHI
ANNUAL EXAMINATION 2020-21

Class : IX M.M. : 80

TIME : 3 Hours SUBJECT: German

General Instructions:

Read the given instructions carefully and follow them:

=N

This paper has two sections Part A and Part B.

Part A consists of objective type questions.

Part B consists of descriptive type questions.

Read the instructions carefully and attempt only the required number of

questions where internal choices are given.

Part - A
Objective Paper

Frage

LESEN

Lies die folgenden Texte und wihle zwei Texte aus.
Lose die Aufgaben zu den Texten.
(Attempt the questions for any 2 texts)

10x2=20

Text A

Hund an der Haltstelle gefunden!

Als ich heute Morgen zur Schule gegangen bin, habe ich einen Hund
an der Bushaltstellegesehen. Er war mit einer Leine festgebunden.
Er hat vor Kalte gezittert und richtig geweint. ,Sein Herrchen kommt
bestimmt gleich zurtick”, habe ich gedacht und bin in den Bus
eingestiegen.

Als ich dann aus der Schule zurtickgekommen bin, war der Hund
immer noch da. Der Arme Hund! Bei der Kilte! Ohne Futter! Sein
Herrchen hat ihn immer noch nicht abgeholt! Ich habe nicht gewusst,
was ich mache sollte. Ich konnte doch den Hund nicht mitnehmen!
Ich mag Hunde sehr gern. Ich liebe {iberhaupt alle Tiere. Aber ich
kann den Hund mit nach Haus nehmen. Meine kleine Schwester ist
ndhmlich gegen Tierhaare allergisch. Wir haben deshalb schon
unsere Katze und meinen Hund weggegeben.




Dann habe ich den Hund gestreichelt. Er war sehr zutraulich und hat
sich gefreuet. Da habe ich ihm den Rest von meinem Pausenbrot
gegeben und er ist vor Freunde an mir hochgesprungen. Sein
Herrchen hat ihn bestimmt vergessen. Da habe ich dem Hund einen
Namen gegeben. , Komm Bingo”, habe ich gesagt, ,,ich bringe dich
jetzt ins Tierheim”.

>

Richtig oder Falsch?

1x8=8

=

Daniel ist mit seinem Hund zur Schule gegangen.

Das Wetter war sehr kalt.

Daniel mag keine Haustiere.

Er hatte schon fiihrer einen Hund und eine Katze zu Hause.

Die Schwester von Daniel hat eien Allergie gegen Tierhaare.

Daniels Hund ist weggelaufen.

Daniel hat dem Hund etwas zum Essen gegeben.

Daniel wollte den Hund zum Tierheim bringen.

W X N | T ] @

Such gegenteile aus dem Text.

Dx4=2

Reich

Trauer

Aussteigen

N .

Fiir

TEXT - B

Bayern

Das Bundesland bayern liegt am stidlichsten. Bayern grenzt an die
Nachbarlander Osterreich , Tschechien und Schweiz. Es zihlt ca. 12,5
Millionen Einwohner. Seine Hsuptstadt ist Miinchen, die gropte
Stadt Deutschlands. Bayern und Miinchen sind durch die Kunst
beriihmt, Miinchen selbst hat mehr als 50 Museen und Sammlungen.
Die moderne Industrie spielt auch eine grope Rolle sowie die
Bayerischen Alpen mit den vielen Ferienorten. Hier liegt auch die
2.962 Meter hohe zugspitze, der hochste Berg Deutschlands. In
Bayern verlaufen zahlreiche Fliisse und auch viele Seen sind
vorhanden.




Im Herbst findet in Miinchen jedes Jahr das gropte Volkfest der Welt
statt: Das Oktoberfest. Es dauert 16 Tage. In den Festzelten feiern die
Miinchener und die Besucher am liebsten bei Blasmusik und Bier.
Bratwiirste und Brezeln sind auch sehr beliebt.

A. Erginze die Sitze 1x5=5
1. | Bayern hat circa Einwohner.

2. | Die Hauptstadt von Bayern ist

3. ist die hochste Berg von Deutscland.

4. | Das ist das gropte Volkfest der Welt.

5. Viele Besucher kommen nach Miinchen, um zu feiern.

B. Richtig oder Falsch? 1x5=5
1. | Bayern liegt in Stiden von Deutschland.

2. | Osterreich liegt an der Grenze zu Bayern.

3. | Bayernist der Hauptstadt von Miinchen.

4. | Die Zugspitze ist der hochste Berg von Deutschland.

5. | In der Bayerischen Alpen befinden sich viele Ferienorte.

TEXT - C

Zwillinge sind nie allein

Als Babys haben Stefan und Chris immer zu selben Zeit die gleichen
krankheiten gehabt. Spater machte es ihnen spaf, das Gleiche
anzuziehen und du gleiche Frisur zu haben. Doch jetzt gibt es
Probleme, weil beiden desselbe Madchen gefillt. Stefan und Chris
sind Briider und sie sind am selben Tag geboren, also Zwillinge. Sie
sind gern zusammen. Trotzdem geht es ihnen auf die Nerven,
Zwillinge zu sein. Es ist Fruchtbar, wenn man immer als die gleiche
Person gilt oder wenn man immer wieder mit dem Bruder
verwechselt wird.

Stefan findet es praktisch, dass er Chris’ Kleidung tragen kann. Gut
ist auch , dass er mit Chris immer {iiber alles sprechen kann und dass
Chris auch sofort alles versteht. Oft brauchen sie schon nicht mehr
zu sagen, denn Chris weif} immer wasStefan denkt. Dennoch ist der
Bruder nicht der beste Freund.




Sie haben zwar dieselben Hobbys und horen dieselbe Musik, aber in
der Schule intressieren sich Stefan und Chris fiir verschiedene
Facher. Stefan mag alles, was mit Paragraphen zu tun hat und
mochte spéter Jura sturieren. Doch Chris beschiftigt sich lieber mit
Physik und Chemie. Er mochte gern Lebensmittelchemiker werden.

Was ist richtig a oder b?

1x5=5

a. Stefan und Chris gefallen die gleichen Dinge.

b. Sefan und Chris haben Probleme, weil ihnen nicht das Gleiche
gefallt.

a. Sie finden es nicht so toll, zwillinge zu sein.

b. Sie finden es fruchtbar, immer mit dem Bruder zusammen zu sein.

a. Stefan spricht mit Chris tiber alle seine Probleme, denn Chris
versteht sofort alles.

b. Uber manche Probleme spricht Stefan lieber nicht mit Chris,
sondern mit Freunden.

a. Die Briider intressieren sich fiir diesselbe Musik und dieselben
Facher.

b. Stefan und Chris mochten spéter verschiedene Berufe haben.

b. Uber manche Probleme spricht Stefan lieber nicht mit Chris,
sondern mit Freunden.

a. Stefan spricht mit Chris tiber alle seine Probleme, denn Chris
versteht sofort alles.

Synonyme: Was passt zusammen?

1x5=5

Gefallen a. Einige
Fruchtbar b. Sagen
Manche c. Gleich
Erzéhlen d. Schrecklich

AR A

Sofort e. Mogen

GRAMMATIK

II.

Wihle die passende Pripositionen.

5x10=5




Du sollst vohrer dem weg fragen.

1. |a.auf b. Bei c. Nach
Felix telefoniert der Oma jeden Tag.
2. Ja. Fur b.Mit c. Bei
Sie diskutieren die Resultate.
3. [a. Uber b.Mit c An
Die Freunde sprechen den Film
4. Ja. Auf b.Mit c. Uber
Ich unterhalte mich Anna.
5. Ja.aus b.Mit  c¢.Um
Denkst du oft Lena.
6. |a.an b.Bei  c. Uber
Dankst du deiner Freundin die Hilfe?
7. la.auf  b.Fir  c Uber
Schiiler engagieren sich soziale Projekte.
8. laum  b.Fir c Uber
Sie protestieren Intoleranz und Gewalt in der Schule.
9. Ja.auf b.Fur c Gegen
Ich erinnere mich oft meinen Grofvater.
10. Ja. um b. An  c.Zum
III. [Ergidnze die Artikelendungen im Genetiv. .5x10=5
1. |Wieist der Name dein_____ neuen Partner_  ?
2. |Wir laden die Kinder unser____ Nachbarin ____ zur Party ein.
3. |Sabine sucht die Wohnungd__ Freunde_
4. |Der Freund mein ___ Schwester ______ heift Gina.
5. |Dasistdas Biroein ____ Kaufmann
6. |Der Teppich liegtin der Mitted__ Zimmer




7. |Das ist der Bleistifft mein__ Schwester
8. |Dasistdas Automein___ Bruder
9. |Wirlernendie Worterd_~~ Buch_
10. |Istdas die Uhrdein __ Frau ?
Iv. Ergidnze die Sidtze mit Genetivartikeln oder Endungen. 1X5=5
L. | Wir fahren mit dem Auto mein Eltern nach Hamburg.
2. |Die Lage unser Hotels ist sehr schon.
3. |Wir besichtigen alle wichtige Sehenswiirdigkeiten Stadlt.
4. | Der Name Musical ist Der Konig.
5. |Der Preis Tickets ist sehr hoch.
V. |Erginze die Relativpronomen. 1X5=5
L. | Mein bester Freund, Jonas heifst, klettert gern.
2. [Ich besuche meinen Onkel, mit ich nach Berlin fahre.
3. |Der Hamburger Hafen, wir gesehen haben, ist schon.
4. |Der Junge, mit dem Bus fahrt, ist wirklich frech.
5. |Die Freundin, fiir ich Blumen kaufe, ist mir bose.
PART B
Descriptive Paper
LESEN
VI. | Lies den Text und beantworte die Fragen.

Angela Merkel ist 1954 in Hamburg geboren. Als Kind hat sie in
Brandenburg gelebt. Spéater hat sie in Leipzig Physik studiert. Sie ist
1,68 Meter grofs und hat blaue Augen. Sie liebt die Natur. Darum
arbeitet sie gern im Garten und wandert in ihrer Freizeit. Im Moment
lebt und arbeitet sie in Berlin. Ihr Terminkalender ist immer voll. Sie
ist oft unterwegs und reist durch Deutschland und Europa oder
fliegt nach Asien, Amerika und Afrika. Sie besucht die Prasidenten
von anderen Landern. Man kann sie sehr oft im Fernsehen sehen.
Dann redet sie meistens tiber Politik. Sie erkladrt, was die deutsche




Regierung macht und was sie plant. Vielleicht ist sie die bertihmteste
Frau in Deutschland. Sie hat keine Kinder, aber sie ist verheiratet.
Allerdings sieht man ihren Mann fast nie.

A. Beantworte die Fragen. 1X4=4
1. Wo und wann ist Angela Merkel geboren?
2. Was ist ihre Lieblingsfreizeitbeschaftigung?
3. Wortiber spricht sie im Fernsehen?
4. Was hat sie studiert?
B. Such Gegenteile aus dem Text. 0.5x4=2
1. frither X 3. selten X
2. leer X 4. ledig X
SCHREIBEN
VII. | E-Mail schreiben: 05
Du machst eine Sprachreise und bist schon seit einer Woche in
Hamburg. Schreib eine E-Mail an deine Eltern und erzéhle:
e wie es dir in Deutschland geht.
e wie ist die Gastfamilie, bei der du wohnst.
e wie findest du den Sprachkurs und die Lehrer!
e welche Sehenswiirdigkeiten hast du schon besichtigt
VIII. | Dialog schreiben: 05
Am Wochenende willst du mit Freunden ins Kino gehen. Du bittest
deine Mutter um Erlaubnis. und auch Geld. Deine Mutter ist der
Meinung, dass du zu ft ins Kino geht. Deshalb ist sie dagegen. Du
bist traurig und rufst deinen Freund /deine Freundin an. Was
schldgt er/sie vor?! Was sagst du? Schreib dazu einen Dialog.
GRAMMATIK
IX. Erginze die richtigen Verben. 1X6=6
(einladen, aufstehen, mitbringen, fernsehen, ankommen, anfangen)
Wann der Film ? -Um17.00
1. Uhr
Markus und Martina fur die Party Nudeln und Kekse




Der Zug um halb neun in Frankfurt

3.
4. Wir alle Klassenkameraden
5. Wann die Mutter ?
6. Tina sieht zwei Stunden pro Tag
X. Verbinde die zwei Sitze mit Konjunktionen. 1X5=5
Ich lerne Gitarre. Ich kann in der Schulband mitspielen.
1. [damit]
Jorg geht nicht ins Training. Er hat keine Lust.
2. [wenn]
Sabine geht regelmaéfig ins Fitness-Zentrum. Sie will abnehmen.
3. [um ...... zu]
Ich will ein neues Smartphone kaufen. Ich habe nicht genug Geld.
4, [zwar ... aber]
Ich surfe im Internet. Meine Schwester macht ihre Hausaufgaben.
5. [wadhrend]
XI. Konjunktiv Il: Ergdnze - hitte-, wire, wiirde- oder konnte 1X5=5
Wenn ich an deiner Stelle , ich keine StifSigkeiten
1. essen.
2. Wenn ich mehr Zeit , ich mehr Sport treiben.
Wenn meine Freundin zu faul , ich sie zum
3. Sporttreiben ermutigen.
4. Wenn ich Zeit , ich einen Film sehen.
5. Wenn ich fliegen p ich die ganze Welt sehen.
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XII.

Ergidnze die passenden Worter.

.5X10=5

Stunden - Rundfahrt - Abfahrt - besichtigen - bertihmte -
bekommt, Sehenswiirdigkeiten - warten - konnt - stellen

Die, Grofse Hafenrundfahrt" ist ein Klassiker und ein Muss fiir jeden
Hamburg-Besucher: immer wieder gut und immer wieder anders!
Die (1) dauert eine Stunde. Viele Highlights
(2) auf Sie unter anderem das (3) Segelschiff Rickmer
Rickmers - heute ein Museum - und die legenddre Hamburger
Speicherstadt. (4) taglich zwischen 11 und 16 Uhr, ca.
jede Stunde ab, St. Pauli Landungsbriicken Auf dieser
Stadtrundfahrt lernt ihr wichtige Hamburger (5) kennen
und habt die Moglichkeit, sie direkt zu (6): zuerst die
Alster, dann das Rathaus, die Speicherstadt, die HafenCity und den
Michel.Zurtick in St. Pauli geht es zu den Landungsbriicken
(7) von eurem Stadtfithrer und der Reeperbahn. An
jedem Ort haltet ihr an und (8) Fotos machen und
Fragen. (9) Dauer: interessante Informationen. Ihr
3,5 (10).

XIII.

VALUE BASED QUESTION

Lies den Text und beantworte die Fragen.

Liebes Tierheim-Team,

meine Freundin Lilian und ich habe gestern im Rheinpark ein
Kétzchen gefunden. Wir haben zwar viele Leute gefragt, aber
niemand hat es vermisst. Wir haben auch keine Zettel gefunden, dass
jemand nach der Katze sucht. Dann sind wir mit dem Kétzchen nach
Hause gegangen, haben in einem Zoo-Geschift Futter geholt und
haben es ihm zusammen mit einem Schiisselchen Wasser gegeben.
Es hatte solchen Durst! Ich mochte das stifie Kdtzchen zwar gern
behalten, aber meine Eltern erlauben es leider nicht...

Sofie Baumann und Lilian Korte

Hast du Haustiere zu Hause? Wenn ja, welche? Wenn nein, warum?

Du findest eine Katze auf der Strafie? Was wiirdest du tun?




DELHI PUBLIC SCHOOL

SAIL Township, Ranchi
ANNUAL EXAMINATION (2020-2021)

Class:- IX Subject: Information Technology
Time:- 2 Hrs F.M:- 50
1. Fill in the blanks [0.5%6=3]
i T is a medium through which message is transmitted to the audience
2.Hand movements and expressions are ................. communication
K JUT is the facility which enables us to access most computers or terminals over Internet

4.The field which is concerned with design, construction and operation of robots is termed as

(ST is working for your own job collectively and individually.

2. Select the most suitable alternative: [0.5%5=2.5]
(i) This key usually creates chart for existing data .

(@)F1  (b)F3  (c)F5 (d)F11

(ii) Horizontal and vertical lines in a plot area of a chart are called:

(a)legends (b) walls (c)floors (d))grid lines

(iii) This option converts uppercase to lowercase and vice versa

(a)Sentence case (b)Invert case (c)Toggle case (d)None of these

(iv) This is used to display transparent image in the background

(a) Grayscale (b)colour mode (c)watermark (d)clip art

117 IO Includes cut, copy, paste and format painter commands.

(a) Drawing (b) Editing (c) Clipboard (d)Slides

(v) Shortcut key to insert a new slide:

(a)Ctrl+N  (b) Ctrl+M (c)Ctrl+S (d)Ctrl+I

3. Write full forms of: [1*3=3]

(i)BPO (ii)CAL (i) UNEP



4. Differentiate between [1*2=2]
(i) Absolute referencing and relative referencing

(ii) Active cell and range of cells

5. Write short notes on: [1*10=10]
(i) Slide transitions (ii) OLE (iii) Mail merge (iv) Name box

(v) Auto fill (vi) Outsourcing (vii) Hybrid business (viii) Green economy

(ix) Quick access toolbar (x) Functions

6. Application based questions [0.5%5=2.5]

(i) Rahul gives a review in the comment section after trying food in a newly opened restaurant. In terms
of communication what it will be called:

(ii) Characters like enter key, tab key are not visible on the screen they are also termed as:

(iii) Siya wants to have a quick review of the textual contents before final presentation. which view she
will shift to view this?

(iii) This tool is used to automatically calculate the sum:
(iv) Ashwin wants to create name list of his class, suggest him a feature of spreadsheet in doing so:

(v) Substances that doesn’t get decomposed on its own are known as:

7.Write the shortcut keys: [0.5%4=2]
(i) Ctrl+shift+< (ii) F5 (iii) Alt+Ctrl+Mm (iv)Ctrl+Shift+E
8. Very short answer: [1*3=3]

(i)Define subscript and its use

(ii) What is the use of footnote

(iii) Write any two advantages of Charts

9. Long answer questions [2*¥11=22]

Explain any two barriers in communication.

What is the utility of print preview feature?

Explain how it is being used in the field of healthcare.

Write about the data types that can be inserted in a worksheet.
Explain custom animation and rehearse timing

Write about any two views of presentation

Write the use of count and Max function along with an example
What do you mean by BPM?

List four qualities of an entrepreneur.

10. Write about any three factors affecting environment.

11. Write the steps to add table background in the slide.
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